

Vendor Ranking

Page 1 of 1

Letting: 08240213 February 13, 2024 02:30 PM **Call Order:** 002 **Contract:** E8V03-R0

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS PALM BEACH, TURNPIKE Project(s): 44777427201 (*)

Contract Desc: Concrete Barrier Wall & Soundwall & Repair- Zone 1

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	LEON AMERICA CONSTRUCTION LLC	Responsive	Winning bid	\$311,800.00	100.00% In
2	P&P CONTRACTING, INC.	Responsive	Non-Winning Bid	\$368,500.00	118.18%
3	NATIONAL TRAFFIC SOLUTION, INC	Responsive	Non-Winning Bid	\$476,200.00	152.73%
4	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$583,000.00	186.98%
5	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$749,500.00	240.38%
6	SOUTHERN ROAD & BRIDGE, LLC	Responsive	Non-Winning Bid	\$1,422,250.00	456.14%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: FEBRUARY 27, 2024 AT 4:00 PM



Tabulation of Bids

Letting: 08240213 February 13, 2024 **Call Order:** 002 **Contract:** E8V03-R0

District: Turnpike Counties: BROWARD, MIAMI- Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 44777427201 (*)

Contract Descr: Concrete Barrier Wall & Soundwall & Repair- Zone 1

The work under this Contract consists of providing all labor, materials, equipment and incidentals necessary to perform routine and priority repairs on concrete barrier walls, soundwall repairs, cleaning, coating, sealing, concrete spalls, slope pavement repair, and other miscellaneous concrete repairs, at various locations along the Homestead Extension of Florida's Turnpike (HEFT), Milepost (MP) 0.0 to MP 47.9; Florida's Turnpike, MP 0X to 100.0; and the Sawgrass Expressway, MP 0.0 to 21.8.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS CONTRACT.

	e No / Item ID Alternate n Description		Quantity Units	(1) LEON AMERICA CONSTRUCTION LLC		(2) P&P CONTRACTING, INC.		(3) NATIONAL TRAFFIC SOLUTION, INC			
() in	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
SECTION: 0001 (CONCRETE SLOPE PAVEMENT JNT REPAIR (LF											
	0400143 ING & COATIN CE, CLASS 5	IG CONCRETE	500.000 SF	2.00000	1,000.00	10.00000	5,000.00	2.50000	1,250.00		
	0401 70 4 RE SPALLED IT GROUT	AREAS, PORTI	5.000 LAND CF	200.00000	1,000.00	1,000.00000	5,000.00	500.00000	2,500.00		
	0415 1 6 DRCING STEE LLANEOUS	L-	500.000 LB	5.00000	2,500.00	20.00000	10,000.00	5.00000	2,500.00		
	0460 113 TURAL STEE WASHERS & F	L REHAB- BOL PLATES	100.000 TS, LB	5.00000	500.00	100.00000	10,000.00	60.00000	6,000.00		
	0521 72 24 DER CONCRE 8' NOISE WAL		20.000 LF	600.00000	12,000.00	1,000.00000	20,000.00	1,000.00000	20,000.00		
	0521 72 27 DER CONCRE 14' NOISE WA		20.000 LF	800.00000	16,000.00	1,800.00000	36,000.00	1,000.00000	20,000.00		

Page 1 of 5



Tabulation of Bids

Page 2 of 5

08240213 E8V03-R0 Letting: Contract: February 13, 2024 Call Order: 002 Line No / Item ID **Alternate** (1) LEON AMERICA (3) NATIONAL TRAFFIC Quantity (2) P&P CONTRACTING, INC. CONSTRUCTION LLC SOLUTION, INC **Item Description** Units () indicates item is bid as Lump Sum **Unit Price Unit Price Ext Amount Unit Price Ext Amount Ext Amount** SECTION: 0001 (CONCRETE SLOPE PAVEMENT JNT REPAIR (LF E101 72 0035 10.000 800.0000 8,000.00 5,000.00000 50,000.00 1,000.00000 10,000.00 MOBILIZATION (EMERGENCY EΑ RESPONSE) 0040 E521 1 30.000 2,500.00000 75,000.00 3,000.00000 90,000.00 1,000.00000 30,000.00 CY CONCRETE BARRIER WALL REPAIR 0045 E524 2 1 10.000 80.00000 800.00 3,000.00000 30,000.00 145.00000 1,450.00 CONCRETE SLOPE PAVEMENT REPAIR CY 0050 E534 72 1 2,500.000 60.00000 150,000.00 25.00000 62,500.00 150.00000 375,000.00 SOUND/NOISE BARRIER PANELS, F&I, SF **REPLACE** 9,000.00000 45,000.00 10,000.00000 50,000.00 7,500.00 0055 E534 72 2 5.000 1,500.00000 SOUND/NOISE BARRIER POSTS, F&I, EΑ REPLACE, INC FOUNDATION 0001 CONCRETE SLOPE Section Totals: \$311,800.00 \$368,500.00 \$476,200.00 **PAVEMENT JNT REPAIR (LF)** \$311,800.00 \$368,500.00 476,200.00 **Contract Grand Totals:**



Tabulation of Bids

08240213 Letting: Contract: E8V03-R0 February 13, 2024 Call Order: 002 Line No / Item ID (4) T & M LAWN-FENCE (5) ROGAR MANAGEMENT & (6) SOUTHERN ROAD & **Alternate** Quantity **CONSULTING OF FLORIDA** BRIDGE, LLC SERVICE INC **Item Description** Units LLC () indicates item is bid as Lump Sum **Unit Price Ext Amount Unit Price Ext Amount Unit Price Ext Amount** SECTION: 0001 (CONCRETE SLOPE PAVEMENT JNT REPAIR (LF 0005 0400143 500.000 1.50000 750.00 1.00000 500.00 9.00000 4,500.00 SF **CLEANING & COATING CONCRETE** SURFACE, CLASS 5 0010 0401 70 4 5.000 650.00000 6,250.00 3,250.00 8,800.00000 44,000.00 1,250.00000 CF RESTORE SPALLED AREAS, PORTLAND **CEMENT GROUT** 0015 0415 1 6 500.000 25.00000 12,500.00 25.00000 12,500.00 9.00000 4,500.00 REINFORCING STEEL-LB MISCELLANEOUS 0020 0460 113 100.000 105.00000 10,500.00 50.00000 5,000.00 95.00000 9,500.00 LB STRUCTURAL STEEL REHAB-BOLTS, **NUTS, WASHERS & PLATES** 650.00000 0025 0521 72 24 20.000 13,000.00 4,000.00000 80,000.00 4,200.00000 84,000.00 LF SHOULDER CONCRETE BARRIER WALL, 8' NOISE WALL 0030 0521 72 27 20.000 950.00000 19,000.00 4,000.00000 80,000.00 4,500.00000 90,000.00 LF SHOULDER CONCRETE BARRIER WALL, 14' NOISE WALL 350,000.00 10,000.00 1,550.00000 15,500.00 1,000.00000 35,000.00000 0035 E101 72 10.000 EΑ MOBILIZATION (EMERGENCY RESPONSE) 0040 E521 1 30.000 2,250.00000 67,500.00 4,000.00000 120,000.00 11,500.00000 345,000.00 CONCRETE BARRIER WALL REPAIR CY 0045 E524 2 1 10.000 1,600.00000 16,000.00 1,000.00000 10,000.00 2,850.00000 28,500.00 CONCRETE SLOPE PAVEMENT REPAIR CY

Page 3 of 5



Tabulation of Bids

Page 4 of 5

08240213 Contract: E8V03-R0 Letting: Call Order: 002 February 13, 2024 Line No / Item ID **Alternate** (4) T & M LAWN-FENCE (5) ROGAR MANAGEMENT & (6) SOUTHERN ROAD & Quantity **SERVICE INC CONSULTING OF FLORIDA** BRIDGE, LLC **Item Description** Units () indicates item is bid as Lump Sum **Ext Amount Unit Price Unit Price Unit Price Ext Amount Ext Amount** (CONCRETE SLOPE PAVEMENT JNT REPAIR (LF SECTION: 0001 E534 72 1 2,500.000 145.00000 362,500.00 262,500.00 0050 105.00000 150.00000 375,000.00 SOUND/NOISE BARRIER PANELS, F&I, SF **REPLACE** 0055 E534 72 2 5.000 12,500.00000 62,500.00 25,000.00000 125,000.00 25,000.00000 125,000.00 SOUND/NOISE BARRIER POSTS, F&I, EΑ REPLACE, INC FOUNDATION 0001 CONCRETE SLOPE Section Totals: \$583,000.00 \$749,500.00 \$1,422,250.00 PAVEMENT JNT REPAIR (LF) **Contract Grand Totals:** \$583,000.00 \$749,500.00 1,422,250.00



Tabulation of Bids

Page 5 of 5

Letting: 08240213 February 13, 2024 **Call Order:** 002 **Contract:** E8V03-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.